Student Handout 5: Population Growth Rates of the Invasive Lespedeza cuneata in different clipping treatments
Your name:____________________________________________

A: Fill in the bar graph below based on the results you calculated from R using a pen. Remember: a population growth rate (λ) below 1 is declining and above 1 is increasing.
B: Provide brief answers to the following questions.

1.) What can you conclude about the results above regarding how effective biological control would be for Lespedeza cuneata?  
2.) How do your results differ from the predictions you made on handout 3?

3.) What are some potential explanations for why your predictions differ from the actual results?
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